Date: 18.12.2018

Cancellation of locations in the Advertisement published in the website www.petrolpumpdealerchayan.in for "Appointment of Regular / Rural Retail Outlet (Petrol Pump) Dealerships" by Bharat Petroleum Corporation Ltd. on 25.11.2018

An Advertisement was published by <u>Bharat Petroleum Corporation Ltd.</u> on 25.11.2018 in the website <u>www.petrolpumpdealerchayan.in</u> seeking applications for "Appointment of Regular / Rural Retail Outlet (Petrol Pump) Dealerships" at various locations in the State of Punjab with Sl. no 1 to 442

The Locations with SI no 3,22,84,205,233,260,263,267,276,301,312, 329,345,355,362,374,391,412 as mentioned below, stand cancelled:-

SI. No	Name of location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Categor y	Type of Site*	M.)/Area of the site (in		Finance to be arranged by the applicant (Rs in Lakhs)		Mode of Selectio n	Fixed Fee / Minimu m Bid amount (Rs. in Lakhs)	Securit y Deposi t (Rs in Lakhs)	
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in Kls	SC CC-1 SC PH ST ST CC-1 ST PH	CC / DC / CFS	Frontag e	Dept h	Area	Estimated working capital requireme nt for operation of RO	Estimated fund required for developme nt of infrastructu re at RO	Draw of Lots / Bidding		

					OBC OBC CC- 1 OBC PH OPEN OPEN CC-1 OPEN CC-2 OPEN PH									
3	VILLAGE RAMDITE WALA, ON MANSA- TALWANDI ROAD, TEHSIL MANSA	BATHINDA	RURAL	91	SC	CFS	30	35	105 0	0	0	Draw of Lots	0	2
22	ON SH16,B/ W KOTKAPU RA - PANCHG RAIN (LHS), WITHIN FARIDKO T DISTRICT	BATHINDA	REGULA R	102	SC	CFS	35	35	122 5	0	0	Draw of Lots	0	3

84	VILLAGE JAWHARK E, ON MANSA - TALWAN DI ROAD, TEHSIL MANSA	BATHINDA	RURAL	83	OPEN	DC	30	35	105 0	12	30	Draw of Lots	5	4
205	FROM VILLAGE BADALGA RH TO MOONAK ON SH-10	SANGRUR	REGULA R	100	OBC	DC	35	35	122 5	25	60	Draw of Lots	15	4
233	In and around Fatehgar h Sahib, WML	LUDHIAN A	REGULA R	110	SC	CFS	16	19	304	0	0	Draw of Lots	0	3

260	LHS, From Samrala Chowk to Transport Nagar mod, Link Road, WML Ludhiana	LUDHIAN A	REGULA R	270	OPEN	СС	16	19	304	25	10	Biddin g	30	5
263	LHS, Between Bharat Nagar Chowk to Bus stand, WML Ludhiana	LUDHIAN A	REGULA R	230	OPEN	DC	16	19	304	25	60	Draw of Lots	15	5

267	LHS, Within 2 Km from Basti Jodhewal chowk towards Samrala chowk, WML Ludhiana	LUDHIAN A	REGULA R	267	OPEN	DC	16	19	304	25	60	Draw of Lots	15	5
276	In and around Southcity, on Canal Road, Ludhiana	LUDHIAN A	REGULA R	160	OBC	СС	16	19	304	25	10	Biddin g	30	4
301	Within 2 Km from Samrala chowk, LHS on Chandiga rh Road, WML Ludhiana	LUDHIAN A	REGULA R	180	OPEN	DC	16	19	304	25	60	Draw of Lots	15	5

312	Within 2 Km from Thapar Nagar,Jal andhar Bypass Road, WML Ludhiana	LUDHIAN A	REGULA R	150	OPEN	DC	16	19	304	25	60	Draw of Lots	15	5
329	ABOHAR BYE PASS BETWEEN INTERSEC TION OF MALOUT ROAD AND GANAGA NAGAR ROAD	FAZILKA	REGULA R	206	OBC	СС	35	45	157 5	25	10	Biddin g	30	4
345	Between Neelon Khurd to Samrala, Ludhiana Chandiga rh highway on NH-95	FATEHGA RH SAHIB	REGULA R	150	OPEN	DC	35	45	157 5	25	75	Draw of Lots	15	5

355	Southern Bypass Road, WML Ludhiana	LUDHIAN A	REGULA R	188	OPEN CC 1	DC	16	19	304	25	60	Draw of Lots	15	5
362	ON DHANAU LA ROAD BETWEEN ITI CHOWK TO COLLEGE ROAD, TEHSIL BARNALA , DISTRICT BARNALA	BARNALA	REGULA R	125	OBC	DC	16	19	304	25	45	Draw of Lots	15	4
374	VILLAGE MOGA JEET SINGH-2 ON SH- 16, (BAGHAP URANA ROAD)	MOGA	REGULA R	101	OPEN	СС	35	35	122 5	25	10	Biddin g	30	5

391	WITHIN MALOUT CITY(WM L), ON SEKHON ROAD	MUKTSAR	REGULA R	100	OBC PH	DC	16	19	304	25	45	Draw of Lots	15	4
412	ON NH148B, WITHIN 11KM FROM MANSA KANCHIA N, MANSA- BHIKHI ROAD	BATHINDA	REGULA R	150	OPEN	DC	35	35	122 5	25	75	Draw of Lots	15	5

Application fee of those Applicants, who have already submitted the applications along with the requisite application fee for the above locations, shall be refunded.

All other terms & conditions of the advertisement published on 25.11.2018/14.12.2018 remains unchanged.